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Youi Roll No.,,,.,...,...,.Outline the major differences in the reform process

between India and China. What factors have
contributed towards the Chinese reform process being
more successful than India? (12+3)
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Debate on the pros and cons of universalization versus
targeting in the contoxt of reoent social security
measures in India. Discuss how NREGA has been an

important tool of social security despite the challenges
that exist. (6+9)
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Discuss the different dimensions of inequalities that
exist in India. How does the intersection of gender,
location and social groups exacerbate the gaps that
already exist? (12+3)
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l. Write your Roll No. on the top immediately on receipt
oi' this question paper.

2. Answer any flve questious.

3. All questions carry equal marks.

4, Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.
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Compare and contrast India's performance in terms

of social indicators with BRIC countries elaborating

on the reasons for India's dismal performance.
( 1 o+5)
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What favourable conditions led to the golden era of

growth from 2003-08 and what developments led to

this period coming to an end? (8+7)
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When India began undertaking a sustained program

of economic reform in the early 1990s, the country

faced two gigantic failures of economic governance'

What were these two failures and how did they impact

India's development in the long run? (15)
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The case for state intervention is absolutely decisive

in the case of Ttaditional Public Health but fairly

weak in the case of primary health care. Discuss'

(1s)
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What do you understand by the tefm Demographic

Debt? What are the areas that India needs to focus

on to be able to make the most of the window of

demographic opportunity India is in right now?

(3+12)
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